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160 A particle is confined to the one-dimensional infinite potential
816 well of Fig. 40-2. If the particle is in irs ground state, what is its
probability of detection between (a) £ = O and x = 0.25L, (b} x =

)9)003 075L =nd x = L, and (c) x = 0.25L and x = 0.75L7
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F:35 Fiz. 50-7 absorbs 400 eV of energy from an extemal source. $hat
4& is ins Linetic eneray after ihis absorption, assuming that the electron
F! moves 10 a position for which x > L7 ssm

Yars g N=2 . - 109 ey
s 2. =
Top F) e et E . b50 eV

K

!

= 59.Y

Had, 2

[_Cee FF} %0.3D

(109 » ppo)eV - 452 ¢V

SIE. An atom (not a hydrogen aiom) absorbs a
seciated wavelength is 37 i
10n whose associated w:

A3
provy




[image: image3.jpg],L}Jfo,}

2. A hydrosgn atom. initially @ rest in the o = 4 qu

2 L2 undereoes a iransition 1o the ground szte. emitting
— process. What is the speed of th recoiling hydroge
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[image: image4.jpg]VS Calrulare the probability that the electron in the hydrogen

B»52 Egnn, in its zround ste. will be found between spherical shells
¥wbose radii are @ and 22 whers 4 is the Bohr radins. (Hint: See
b 1005 ¢ Sampie Problem 40-8)
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